SHIRE SHANKS |BULLETIN JTO16

170A Alt Upgrade Kit c/w Pulley

Part No. RDG702B60

Kit contents:

Part | Part No Qty Description
1 RDG1067476 2 110A Alternator Bracket
2 RDG1532 5 M10 x 35 Hex Head Screw BZP
3 RDG2106 6 M10 "T" Type (Half) Nylock Nut SS
4 RDG628 8 M10 flat washer Form A SS
5 RDG3940 1 M10 x 50 Hex Head Bolt BZP
6 RDG5373 1 M10 x 55 Hex Head Bolt BZP
7 RDG201A29 1 Alt 12V 170A Earth Return
8 RDG0047498 1 1080 PK6 Multi Rib Belt
9 RDG106B9 1 Spacer 270D x22.2IDx15L
10 RDG4019723 1 Shire 240A Alternator Bracket
11 RDG5731 1 Spacer 20 OD x 10.5 ID x 8mm Long
12 RDG5027469 1 Shire06 65 Adjuster Block Shire
13 | RDG5755 1 3.5/7 KW Alt Adj. Block Shire
14 RDG5771 1 M10 x 100 Hex Head Screw SS
15 | RDG1111 8 M10 Spring Washer SS
16 RDG1017636 1 M10 x 45 Hex Head Screw BZP
17 | RDG1552 1 M10 x 20 Hex Head Screw BZP
18 RDG3923 3 M10 x 30 Cap Head Screw BZP
19 RDG6879 1 Pulley Shire 110amp Alternator

Copyright © 2024 E.P. Barrus Ltd. VAT Number: GB226662558. Company Registration Number: 148476



